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2 E NS 3NS-2 200 4HS-4 400 200 5 EW100 -3 7
3 S | EW 4SW4 620 4SW-1 100 720 12 EW370 -6 -10
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5 N | NS 4HE-1 50 4HE-1 50 EW80 4 -4
6 E | EW 2SN4 170 2SN3 140 30 1 NS230 -2 3
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1 | N |None| 3DE4 130 2DE4 130 EW190 | 2 -2
2 | E| NS 2SW2 110 3DE3 110 EW100
3| s |EwW 4SE4 620 4SW-1 100 720 12 EW370 | -6 -10
4 | W |Both| 5HW-1 100 5HE5 650 | 750 13 NS320 | -6 14
5| N| NS 4HW4 420 4HE-1 50 470 10 EWS0 | -8 -4
6 | E|EW| 4sNa 50 2SN3 140 190 5 NS230 | -7 3
7 | s |Both| eDW-1 100 6DE-1 100 EW630 | 12 12
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1 N |None 3SN-2 100 3NE3 400 300 7 EW190 3 5
2 E NS 3NN-1 100 3DE3 110 10 EW100
3 S | EW 4HXS-2 300 4SE5 650 350 8 EW370 2 7
4 W |Both 6CXS6 1540 4HES5 650 | 2190 19 NS320 15 14
5 N | NS 4HE-1 50 4HE4 420 470 10 EW80 4 8
6 E | EW 4SN4 420 4SN-1 50 470 10 NS230 5 7
7 S |Both 3NW3 600 6DE-1 100 700 12 EW630 1 12
8 W |None| 3NS-1 50 3NS-3 150 100 3 NSO -2 4
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2 E NS 3DXE-1 100 2DE2 90 190 5 EW100 5
3 S | EW 3HXS-2 300 4SE4 620 320 8 EW370 2 6
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3 S | EW 4SW-1 100 4SW4 620 720 12 EW370 10 6
4 W |Both 6CXS6 1540 5CXN6 950 590 11 NS320 15 -12
5 N | NS 4HE-1 50 4HE-1 50 EW80 4 -4
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1 N |None| 2DE4 130 3DE4 130 EW190 2 -2
2 E | NS 3DE3 110 28wW2 110 EW100
3| S |EW 4SW-1 100 4SE4 620 | 720 12 EW370 10 6
4 | W |Both S5HES 650 5HW-1 100 750 13 NS320 -14 6
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2 | E|Ns 3DE3 110 3NN-1 100 10 EW100
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R tyze% | NS | EW | c2yzu% | NS | EW | #11 | #4 [#11] #4 [#11] #4 || Mean | Ns EW
1 N |None| 2SS2 110 2SN2 110 EW190 7 -7
2 E NS 2DE2 90 3DXE-1 100 190 5 EW100 -5
3 S | EW 4SE4 620 3HXS-2 300 320 8 EW370 -6 -2
4 W | Both 5S8S5 650 5SXS5 850 200 5 NS320 8 -11
5 N NS 4HE-1 50 4HE4 420 470 10 EWS80 4 8
6 E EW 4SN4 420 3SN4 170 250 6 NS230 5 2
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1| N |None] 3NW4 430 3NW4 430 EW190 | -6 6
2 | E|Ns 3CE-3 150 4HN-3 300 | 450 10 EW100 | 6 5
3| s |EW| aswa 620 4SW4 620 EW370 | -6 6
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7 | S |Both| 6DW-1 100 6DE6 1370 | 1470 16 EW630 | 12 12
8 | W |[None|  3NS3 400 3NS-2 100 | 500 1 NSO 9 3
@3t IMP[47 | 7 10 | 41
) ke Sy =
32 [[13 4g p 5 Y
* BINP 47 7
&3 NP 47 7 ©
2 HVP 19.74 0.26
it




12EE<E 2RIpERF IR &

7

[ 7]

NS s=Em #2&(P0) 1 2 T bl 6 6 NS m¥E=: mEi(R0)
EW Rirg $:-k(R0) apie EW <4 %3P0
B# | DL | £ % MEFE 2RE ES A%EREA COP Datum
1
Kl z9zmx | NS [ EW | 25z2% | NS | EW | #12 | #6 |#12] #6 |#12| #6 || Mean | Ns | EW
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3 S | EW 4SW4 620 4SE-1 100 720 12 EW370 -6 -10
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